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All Candidates' performance across questions

Question Title Mean Max Mark Attempt %
la 1560 3.1 1.5 5 61.8 98.7

| 1c | 1577 | 132 | 37 | 20 | 66 | 998 |

Eduqas GCE Sociology A level Component 2 A200U20-1
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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EDUQAS A LEVEL SOCIOLOGY - COMPONENT 2
METHODS OF SOCIOLOGICAL ENQUIRY

SUMMER 2018 MARK SCHEME

Read the following item and answer all of the questions:
Gang leader for a day.

Sudhir Venkatesh wanted to find out how it felt to be black and poor, living in a Chicago
housing project. The first method he used was a questionnaire. One of his questions was
‘How does it feel to be black and poor?’. The local residents did not take too kindly to this
guestion, and as a result, Venkatesh was held hostage overnight. The leader of a gang in
the area, known as the Black Kings, told him if he wanted to know what it was really like he
needed to ‘hang out’ with the gang. This gave him the opportunity to develop his research
into an ethnographic study. With the gang’s permission he spent nearly eight years overtly
observing them. He was even allowed to be the gang leader for a day, therefore, putting
himself in the gang leader’s shoes.

Adapted from Gang Leader for a Day, Venkatesh, S. (2009)

1. (@) Using material from the item and elsewhere, explain what is meant by the
term ethnographic study? [5]

Candidates may refer to some but not necessarily all of the following:

Study of people in their natural environment.

Getting to know patrticipants, or ‘walking in their shoes.’
Reference to ethnographic observations.

Weber and Verstehen.

Insight, depth and understanding.

Qualitative, emotion and meaning.

Issues of reliability and validity.

The item should be used to demonstrate understanding.
Any other relevant points.

© WJEC CBAC Ltd.





AO1 AO2
Band elements 2a & 2b element 1b
3 marks 2 marks
Answers demonstrate detailed Answers demonstrate accurate and
knowledge and understanding of | relevant selection of appropriate
sociological theories/concepts/ sociological theories/concepts/evidence
evidence relating to the context of | applied to research methods. These are
3 the debate/question applied to interpreted in the context of the
research methods debate/question.
Reference will be made to the item to show
the ability to select appropriate examples.
2 marks 1 mark
Answers demonstrate some Answers demonstrate some ability to select,
knowledge and understanding of | apply and interpret appropriate sociological
5 sociological theories/concepts/ theories/concepts/ evidence applied to
evidence relating to the context of | research methods in the context of the
the debate/question applied to debate/question.
research methods
1 mark
Answers demonstrate basic
knowledge and understanding of
1 sociological theories/concepts/
evidence relating to the context of
the debate/question applied to
research methods
0 marks 0 marks
NRSP NRSP
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1. ()

© WJEC CBAC Ltd.

Explain one reason why the researcher used overt observation in his
research? [5]

For band 3 AO1 the answer will include one reason which is linked to either
key methodological concepts, the characteristics of the method or the focus
of the research. For band 3 AO2 there will be a clear explanation of the
reason offered and this must be contextualised for full marks.

Indicative content

To overcome ethical issues, such as deception and lack of informed
consent.

To avoid taking part in illegal activities.

To be able to record notes.

To reduce the risk of going native.

The item should be used to contextualize the reason offered.





Band AO1 AO2
elements 2a & 2b element 1b
2 marks 3 marks
Answers demonstrate detailed Answers demonstrate accurate and
knowledge and understanding of relevant selection of appropriate
sociological sociological
theories/concepts/evidence relating | theories/concepts/evidence applied
to the context of the to research methods. These are
3 debate/question applied to interpreted in the context of the
research methods debate/question
Reference will be made to the item
to show high level ability to select
appropriate examples to illustrate
the reason offered.
1 mark 2 marks
Answers demonstrate some Answers demonstrate some
knowledge and understanding of accurate and relevant selection of
sociological theories/ appropriate sociological
concepts/evidence relating to the theories/concepts/evidence applied
5 context of the debate/question to research methods, some of which
applied to research methods are interpreted in the context of the
debate/question
Reference will be made to the item
to show some ability to select
appropriate examples to explain.
1 mark
Answers demonstrate a basic ability
to select, apply and interpret
appropriate sociological
1 theories/concepts/evidence applied
to research methods in the context
of the debate/question
Basic or cursory reference is made
to the item.
0 marks 0 marks
NRSP NRSP
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1. © With reference to the item and sociological studies, discuss the strengths and
weaknesses of using questionnaires in sociological research. [20]

Answers should address several strengths and several weakness for band 4
AO1 and include at least two studies. For band 4 AO2, the explanation of the
strengths and weaknesses will be linked to at least one key concept at least
one example should be drawn from the item.

o Definition of questionnaires e.g. as a set of pre-written questions which
can be administered on paper, via the post or the internet or via a
structured interview in special cases (though structured interviews are
generally seen as a different methodology).

e The strengths of questionnaires — this should be explained in the context
of key methodology concerns such as :
— Depth
— Reliability
— Standardisation
— Response rates
— Ease of collation
— Size of samples/representativeness
— Can be analysed through computer designs

e The weaknesses of questionnaires — this should be explained in the
context of key methodological concerns such as:
— Validity
— Expense of creating and printing
— Lacks depth
— Unintentional bias
— Design issues
— Non-response/representativeness

All relevant examples and explanations will be credited. Direct reference to
relevant studies is necessary for answers to gain the top mark band.

© WJEC CBAC Ltd.





Band AO1 AO2
elements 2a & 2b element 1b
12-14 marks 6 marks
Answers demonstrate detailed Answers demonstrate accurate and relevant
knowledge and understanding of selection of appropriate sociological
sociological theories/concepts/evidence applied to
theories/concepts/evidence relating research methods. These are applied
4 to the context of the debate/question | interpreted in the context of the

applied to research methods.

debate/question.

Reference will be made to the item to show
high level ability to select appropriate
examples.

8-11 marks

Answers demonstrate some
knowledge and understanding of
sociological theories/
concepts/evidence relating to the
3 context of the debate/question
applied to research methods.

4-5 marks

Answers demonstrate some accurate and
relevant selection of appropriate sociological
theories/ concepts/ evidence applied to
research methods, some of which are
interpreted in the context of the
debate/question.

Reference will be made to the item to show
some ability to select appropriate examples.

4-7 marks

Answers demonstrate basic
knowledge and understanding of
sociological theories/

2-3 marks

Answers demonstrate a basic ability to
select, apply and interpret appropriate
sociological theories/concepts/ evidence

2 concepts/evidence relating to the applied to research methods in the context of
context of the debate/question the debate/question.
applied to research methods.
1-3 marks 1 mark
Answers demonstrate limited Answers demonstrate limited ability to select
knowledge and understanding of and/or interpret and/or apply sociological

1 sociological theories/ theories/concepts/ evidence applied to

concepts/evidence relating to the
context of the debate/question
applied to research methods.

research methods in the context of the
debate/question.

0 marks
NRSP

0 marks
NRSP
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Sticky Note

3+2. Full marks awarded as answer contains a clear definition, terms, understanding and explicit use of the item.



Sticky Note

2+2. Clear reason given which is contextualised but lacks methodological terms for full marks.
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Sticky Note

12+5. Strengths and weaknesses are explicit throughout. Key terms, theory and some studies are used which show understanding. The answer is clear and succinct.
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Sticky Note

3+2 Full marks were awarded as clear definition was given with key methodological terms used (Verstehen, valid and interpretivist). The item was used to show off understanding.  Study not needed in this question.
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Sticky Note

2+3 Full marks given as clear reason given which is unpicked/explained in detail using key terms and contextualised to the item.
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Sticky Note

13+6. Definition of questionnaires given and different types. Studies are used to explain strengths and weaknesses. Key terms used throughout and understanding shown. Clearly top band.
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Sticky Note

2+1. A good definition is given but there is little additional information given as the item is heavily relied upon.



Sticky Note

1+2. This has an implicit focus/understanding of overt and few key methodological terms but is contextualised to the item.
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Sticky Note

8+3. This answer has the bottom of some for AO1 knowledge and understanding (brief ref to studies, plus 1 psychological study that is poorly applied and the item and some terms that are undeveloped)










Answer all questions.

Read the item and answer each part of the following questions.

Gang leader for a day

Sudhir Venkatesh wanted to find out how it felt to be black and poor, living in a Chicago housing
project. The first method he used was a questionnaire. One of his questions was ‘how does it feel
to be black and poor?’. The local residents did not take too kindly to this question, and as a result,
Venkatesh was held hostage overnight. The leader of a gang in the area, known as the Black Kings
told him if he wanted to know what it was really like he needed to ‘hang out’ with the gang. This gave
him the opportunity to develop his research into an ethnographic study. With the gang’s permission
he spent nearly eight years overtly observing them. He was even allowed to be the gang leader for
a day, therefore, putting himself in the gang leader’s shoes.

Adapted from Gang Leader for a Day, Venkatesh, S. (2009)

1. (a) Using material from the item and sociological knowledge, explain what is meant by the
term ethnographic study. [5]

(b) Explain one reason why the researcher used overt observation in his research. [5]

(c) With reference to the item and sociological studies, discuss the strengths and weaknesses
of using questionnaires in sociological research. [20]

END OF PAPER
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2. As an A Level Sociology student, you have been asked to design a research project
to collect data on the amount of regular exercise taken amongst a sample of elderly
people in your local area. [30]

(i)

(ii)

Describe each stage of your research design, justifying the reasons for your
choices at each stage.

Discuss problems that may occur and the impact of these problems on the
guality of the data collected.

The research design should be ethical, achievable and appropriate to the theme
of the proposed study. Candidates should make their choices, justify their
research approach and design in the context of the research problem.

Expect to see the following stages addressed in the proposed design:

Operationalisation of key terms in the brief
Sampling:

— population

— sampling technique

— access

Research method

Ethical issues

Practical considerations.

Expect to see the research design justified and potential problems identified
in relation to key methodological concepts and other relevant issues such as:

© WJEC CBAC Ltd.

Ethics

Validity

Reliability

Practical considerations
Generalisability
Representativeness
Operationalisation.





Band AO1 AO2 AO3
elements 2a & 2b element 1b strands 1-3
7-8 marks 9-10 marks 10-12 marks
Answers demonstrate Answers demonstrate Answers demonstrate
detailed knowledge and detailed, accurate and detailed, well organised
understanding of relevant selection of and logical arguments.
sociological theories/ appropriate sociological Logical judgements and
4 concepts/evidence relating | theories/concepts/ conclusions will be offered
to the context of the evidence applied to based on explicit
debate/question applied to | research methods. These | evaluation of the relevant
research methods are interpreted in the theories/concepts/
context of the debate/ evidence as applied to
question research methods
5-6 marks 6-8 marks 7-9 marks
Answers demonstrate Answers demonstrate Answers demonstrate
some knowledge and some accurate and some, well organised and
understanding of relevant selection of logical arguments.
sociological theories/ appropriate sociological Judgements and
concepts/evidence relating | theories/ conclusions offered will
3 . .
to the context of the concepts/evidence as show some evaluation of
debate/question applied to | applied to research the relevant
research methods methods, some of which theories/concepts/
are interpreted in the evidence as applied to
context of the research methods
debate/question examined
3-4 marks 3-5 marks 4-6 marks
Answers demonstrate Answers demonstrate a Answers demonstrate
basic knowledge and basic ability to select, basic arguments.
understanding of apply and interpret Judgements and
sociological theories/ appropriate sociological conclusions offered will
2 concepts/evidence relating | theories/ show basic evaluation of
to the context of the concepts/evidence as the
debate/question applied to | applied to research theories/concepts/evidenc
research methods methods in the context of | e as applied to research
the debate/ question methods examined
1-2 marks 1-2 marks 1-3 marks
Answers demonstrate Answers demonstrate Answers demonstrate
limited knowledge and limited ability to select limited argument. Any
understanding of and/or interpret and/ or judgements and
sociological theories/ apply sociological conclusions offered will
1 concepts/evidence relating | theories/ show limited evaluation of

to the context of the
debate/question applied to
research methods

concepts/evidence as
applied to research
methods in the context of
the debate/ question

any
theories/concepts/evidenc
e as applied to research
methods examined

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP
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Sticky Note

7+8+9.  This answer addresses the stages of the research design process but is less specific than script C in terms of what they'd actually do.  Good understanding of terms and candidate has thought about the group being studied (elderly).
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Sticky Note

3+5+4. This answer has some confusion (structured = qualitative) and few key methodological terms are used throughout.  The candidate goes through the motions E.g says they will operationalise by doesn’t justify why this is important.
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Sticky Note

8+10+10   All stages of the research design process are addressed.  The research is realistic for an A-level student. The candidate explains specifically what they will do and addresses methodological problems while using and understanding key terms. The answer is contextualised to elderly and doesn’t simply go through the motions.











Answer all questions.

Read the item and answer each part of the following questions.

Gang leader for a day

Sudhir Venkatesh wanted to find out how it felt to be black and poor, living in a Chicago housing
project. The first method he used was a questionnaire. One of his questions was ‘how does it feel
to be black and poor?’. The local residents did not take too kindly to this question, and as a result,
Venkatesh was held hostage overnight. The leader of a gang in the area, known as the Black Kings
told him if he wanted to know what it was really like he needed to ‘hang out’ with the gang. This gave
him the opportunity to develop his research into an ethnographic study. With the gang’s permission
he spent nearly eight years overtly observing them. He was even allowed to be the gang leader for
a day, therefore, putting himself in the gang leader’s shoes.

Adapted from Gang Leader for a Day, Venkatesh, S. (2009)

2. As an A Level Sociology student, you have been asked to design a research project to collect
data on the amount of regular exercise undertaken amongst a sample of elderly people in your
local area.

* Describe each stage of your research design, justifying the reasons for your choices at
each stage.

» Discuss problems that may occur and the impact of these problems on the quality of the
data collected. [30]

END OF PAPER
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